def print_trans(N,verb):


""" iterates through the treebank, calling contains_trans"""


i = 0


count = 0


for tree in treebank.parsed():



i = i + 1



if i == N: break

    

else:



   if contains_trans(tree, verb):




count = count + 1

        

print tree




print count

def contains_trans(tree, verb):

    """ searches recursivly for 2 sibling nodes, one a VB and one an NP"""

    if  (len(tree) >= 2 and

         tree[0].node == 'VB' and

         tree[0,0] == verb and


 tree[1].node == 'NP'):      

    

print verb

                return True

    else:


 for child in tree:

            if isinstance(child, Tree):

#

print 'child'

                if contains_trans(child,verb):

                    return True

    # no instances of transitive 'verb' found

#    print 'false'

    return False

 (S:

  (NP-SBJ:

    (NP: (NNP: 'Pierre') (NNP: 'Vinken'))

    (,: ',')

    (ADJP: (NP: (CD: '61') (NNS: 'years')) (JJ: 'old'))

    (,: ','))

  (VP:

    (MD: 'will')

    (VP:

      (VB: 'join')

      (NP: (DT: 'the') (NN: 'board'))

      (PP-CLR:

        (IN: 'as')

        (NP: (DT: 'a') (JJ: 'nonexecutive') (NN: 'director')))

      (NP-TMP: (NNP: 'Nov.') (CD: '29'))))

(.: '.')) 

tree(1,1,0,0)

